Math 152 Sec S10NO1 - Test 2 Mar 2 2010

Question 1:

(a)[4 points] Determine the area of the shaded region in the following figure (round your answer

to 2 decimals):

9= 360" -24 = 336°
(3365)( =) = 33T voetloms:

(b)[3 points] Simplify cos™ {C o (5; }
cos C ) S (ISC )
oo [es(5)] - o[ o5 ()

{

T

(c)[3 points] Given that cos <16> — b, find an expression involving b for cos (_ 6—1561 > |
Cos (%S =) = cos (@Sm
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Question 2:

(a)[7 points] Carefully (and neatly!) sketch the graph of y = 2sin (—3z — ) — 1 . Show at least
one complete period, label your graph and indicate the scale on the axes.

% zsim(—_?x-"‘f)-\ = Zsfv»(-z (7&%)}—/":--25&(3'(,4‘1,_25‘2.‘))_,

D cg:S{vL () @ 4 = —2sin(x)
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O 4=- 2 s (300t 35)>~|
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V4 73 3
\/___ -3
l
(b)[3 points] State the period, amplitude and phase shift of the function graphed in part (a).
' - - 20K
?Qﬂoot | = T

KW‘P“M = l—ll =1,

W.{ . = — .
’]D Sha -+ ?
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Question 3:

(a)[6 points] Determine the exact value of a, b, p, ¢, u and v in the following unit circle:

= coS ('g'): -‘Zg.

(p,9)
| ) - L: 5\\ NL%) =

e

% 5“"@ = m(%); JTIL-

w=cos(F)= cos(§)= 2

(u,v) s S __-3,_[:) =~

(b)[2 points] If sinf = —5/13 where 6 is in the fourth quadrant what is cot 8 .

—t — A [
Cos & :’.J|——‘Sw\9/ J————< — ..;(“".’:‘;——-Z-E—— = J=
: L6y ‘ !
. ok B= 32 :,(:_'_5_..;""‘.
S 1aAS 5;) 5
13

(c)[2 points] Convert 7_5. to degrees.

() () <[
, m, veok
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Question 4:

(a)[4 points] Simplify sec (sin_1 :c) Your answer should not contain any trigonometric or inverse
trigonometric function.

o8 B

Cos & = \)(—SW}Q‘] = J ("?C.Z' .

ve S = |

==

(b)[4 points] Determine the exact value of tan [cos_1 (—§>] .

Lt~ &= cof <'3) o oS ®B= £

.D]' - (— - _ (=2 —57
s osiwe = Ji-cos% J( ()< F—p,%

Ao & = Siw® _ (ﬁﬁ)

5
(c)[2 points] Determine the exact value of sin ( -

12
‘ ST\ . ‘ 3T <7
Slv\'( n._)" Slw(ll,-‘__l_'):)
= S\\V\,(‘I'r‘ "'*'::)
“ G
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Question 5:

. : . _ 4 3 .
(a)[4 points] Given that sin |cos™ ( —= | | = <, determine the exact value of

) )
cos {tan '(=1) +cos™? <—§>}

o [ () + ef (i)l o[ 5 v’ (F) |
.,cQg('T)wS(cos Y)) SM( 'ﬁ)s’.”(wgi('g'))
=) (3) (2) |
=)= )

(b) [3 points] Find all angles 0 < 6 < 27 for which sind = 1/2.

(c)[3 points] Determine the exact value of sin (1°) + sin (2°) + sin (3°) + - - - +sin (359°) . (Hint:
think of the unit circle)

P 0406 < (%P Siws + siw (3b0-0) =0

° SWL(\")-I-‘SLW(}f + eco +S1m<35"°l°)
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